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QUESTION 1

What is a Universally Unique Identifier in the context of Cisco Unified Computing System?
A. A unique identifier used to identify an object or entity on the internet.

B. A unique identifier used in server profiles enabling server mobility.

C. A unique identifier used in application profiles enabling server mobility.

D. A unique identifier used in service profiles enabling server mobility.

Correct Answer: D

QUESTION 2

A UCS admin needs to use the department Active Directory (AD) server for UCS user authorization. However, the AD
administrator is reluctant to modify the AD schema, but is willing to add Group membership for UCS users.

How is the UCS administrator expected to use AD?

A. For user authorization but not for authentication.

B. Use AD Schema User Extensions (AD/SUE) to do an on demand schema modification.

C. Use the Group membership information to assign the authorization policy with LDAP Group Maps.
D. Will not be able to use AD, must use the local UCS user database.

Correct Answer: B

QUESTION 3

The HX Data Platform architectures uses which two data optimization features? (Choose two.)
A. Non-disruptive RAID recovery

B. Inline data compression

C. Post-process data compression

D. Cluster-wide garbage collection

E. Inline data deduplication

F. Post-process data deduplication

Correct Answer: BE
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QUESTION 4

Depending on the tab context in a Cisco UCS Manager, what three objects are contained in an Organization? (Choose
three.)

A. ldentity Pools
B. Roles

C. Privileges

D. Policies

E. Service Profiles
F. Locales

Correct Answer: ADE

QUESTION 5

What is the purpose of a virtual switch?

A. Virtual switches manage storage requests from virtual machines

B. Virtual switches present NICs to virtual machines for network connectivity

C. Virtual switches recommend QoS options to the hypervisor for network connectivity
D. Virtual switches present NICs to the UCSM for network connectivity

Correct Answer: B
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